Unit 1 - Square Roots and Surface Area

Grade 9 Mathematics

Here is an object made from 4 cubes. What is the surface area? How did you

determine the surface area?
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We could easily find the surface area by finding the total surface area of each

block, adding them together and then subtra

Find the surface area of the object below:
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Unit 1 - Square Roots and Surface Area Grade 9 Mathematics

Surface Area of Square/Rectangular Prisms

To find the surface area of any prism, we need to individually find the area of all
surfaces and add them together. In the case of a rectangular prism, all the faces are
rectangles so we use the same formula for all six rectangles.

Formula for the Area of a Rectangle: bAS@ x_he ',9)\1'
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Unit1- Square Roots and Surface Area Grade 9 Mathematics

Try these:
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A CoM p oS le object is composed of two or more objects.
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Unit 1 - Square Roots and Surface Area Grade 9 Mathematics

To find the surface area of a composite object, imagine dipping the object in paint.
What happens when you separate the blocks below once they have been painted? -
You will have an area on each block that is not painted because it was touching the
other block. This unpainted part is called the overlap.

‘=

To find the surface area, we calculate the area of all the faces covered in paint. The
overlap is not painted, so it is not part of the surface area; thus we find the total
surface area of each block, add them together and subtract the overlap from the

total at the end.
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Unit 1 - Square Roots and Surface Area

Grade 9 Mathematics
2.

10 m
Second, calculate the surface area of the smaller prism.
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Grade 9 Mathematics
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